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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3 Making any identification mark in the answer-book or writing roll number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 52/ASS/4, Set—[A] on the answer-book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2.  New Syllabus is compulsory for those who have registered for 2015-16 (Block-I)
admission. (Those who are appearing in March-2016 under “New Syllabus™.)

3. Old Syllabus is compulsory for those who had registered before 2015-16
(Block-I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

r ( weat it ) ~

1. 39 9990y YRt # & weTud ¥ e Hlfua emus Wl W eneid ¥
| A wemRw Sifed ¥ dun qE due ¥ U@ oreEs gl X eneni|
T B8 W wem sifed ¥

2. T UeER 99 el & T ofed ® R Wi 2015-16 (st 1)
¥ ogem ¥ | (S W 2016 H M wewsww’ % Siqid wlEm ¥ g7 W1 w ¥ )

3. YOI UERE 39 UeeEl % fau sitEn ¢ fWer Amies 2015-16 (@iw-1) &
W AT § |

4. TSl R U & YOSl H ¥ AW Uk WU ¥ § IOX MW |

5. Tlemedl @ & e % We B BB IAX I HI SGAN el § |
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NEW
MATHEMATICS
(o)
(311)

New Syllabus / a1 T&IsEH

Time : 3 Hours] [Maximum Marks : 100

qeg ¢ 3 g ] [quif : 100

Note : (1) This question paper consists of four Sections A, B, C and D containing
33 questions.

(2) Question number 1 to 10 in Section A are multiple choice questions (MCQ).
Each question carries one mark. In each question there are four choices (A),
(B), (C), (D) of which only one is correct. You have to select the correct
choice and indicate it in your answer book by writing (A), (B), (C) or (D)
as the case may be. No separate time is allotted for attempting MCQ.

(3) Question number 11 to 16 in Section B are very short answer questions and
carry 2 marks each.

(4) Question number 17 to 28 in Section C are short answer questions and carry
4 marks each.

(5) Question number 29 to 33 in Section D are long answer questions and carry
6 marks each.

(6) All questions are compulsory. There is no overall choice, however, alternative
choices are given in some questions. In such questions, you have to attempt
only one choice.

far: (1) s UTU § @ 33 U &, S AR @A A, B, C dun D # fawfsa ¥

(2) @UE—AH U €@ 19 10 7% Sgiasmedia v9 &, T vades & g 1 ofw fraifa
T 1 9% 99T b SO & &Y H (A), (B), (C) 91 (D) IR faehew few 7o ¥ &9 &
Y W5 UH Tol ¢ | oTush! T8l [qehed =1 § qen ol 3o giaat 7 (A), (B),
(C) qam (D) & <1 |81 &1 X & &Y § foe1 & | qgfaswedia 957 & & & g
ST O Oy A& T W ®

(3) @UE—B ¥ UsT &A1 119 16 T 3ifa TYSTUA U9 & AT Teiah o 2 37k Faifa 2

(4) |oE—C ¥ Y97 de&n 17 | 28 T TSAUT U9 & T U% & 4 3fk g ¥ |

(5) @|o=—D ¥ U7 T 29 ¥ 33 I <Y ITUT YT & AT e b 6 37k Freifia ¥ |

(6) T T A § | qul weuS ¥ fasmew I ¥, BT 0 Fw ueAi #, oridt@®

feg € | 09 W wodl H § otuel Us € fueed '@ w0 § |
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SECTION - A

g - A

1 If A=[(l) (1)}, then 4> equals : 1

aﬁA:[O l}s“r,aerAzw%:

1 0
0 1 1 0
(A) A=[1 O} ® 0}
0 1 1 0
© {o J D) |, 1}
2 Let f:R— R be the function defined by f(x)=x3+5. Then f_l(x) is 1
I I
A (x+5)° ®) (x-3)°
I
© (5-x)? (D) 5-x

M fR—R Th B ¥ S f(x)=x +5 Fw ufeniid ¥ o@a Fx) '

1 1
(A) (x+5) ®) (x-3)°
1
©) (5-x)° D) 5-x

S11/52/A88/4_A] 4 AR Ot ComtL..



3 The range of the function cosec 'x is 1

G cosec_lx B TET T

4 The statement, "If 2 is not even, then x is not even" is converse of the statement, 1
(A) If x> s odd, then x is even

2 is not even

(B) If x is not even, then x
(C) If x is even, then x> is even

(D) If x is odd, then x> is even

HUT Afy ? gEEEd TR %, @ x O gwen T e faam ¥, fRw we @ -
(A) afy i fywm dem ¥, dr x weEen

(B) R x goEE & ¥, At 0 wwgem T @

(C) of x wwEm ¥, @ x° wWEEn

(D) X x fowm d@@m ¥, @ x° GwEEn B

S11/52/A88/4_A] S AR AR VO~ Comtl..



Ias Ias Ias

—> A A AN
5 The projection of vector a =2i— j+k along Z):i—2j+ 2k 1s 1

— as as as A A A
afeyl a=2i-j+k ® GRS b =;-2j+2k b Y WO ¥,

P B p—
(A) 3 B) 3
€ 2 D) b
6  The function f(x)=[x] where [x] denotes the greatest integer function, 1
is continuous at
(A) 3 B) 2
©) 15 D) 1

B f(x)=[x] 7@ B [x] g9 w1 Qe wed ¥, €99 3,
(A) 3| (B) 2 W

C) 15w D) 1 W

7 The value of C in Mean Value Theorem for the function f(x)=x(x-2),xe[l,2] is 1

LIGE| f(x):x(x—Z),xe[l,Z] % foT Aregme wog % C &1 0 %,

(A) (B)

3

w | wn

| w2

3
© © -3

S11/52/A88/4_A] 6 MR AR AR RO M= Comte..



10

X

Jx( )2 dx is equal to
x+1

X

Jx(xil)z dx w1 AN ¥

2
(A) € (Lj +C

1+ x

X

e
C) - +C
© 1+ x*

The value of X

O —ola

sin x+cosx

sin x
dx & 99 ¥

O —ola

sin x+cosx

A =

© 3

dx is

(B)

(D)

1
[ 1
— |+ C
B) ¢ (x+lj
X
__¢ +C
(x+l)
1
T
2
T
4
1

The degree of the differential equation

2 3
d—§/+(d—yj +6y5 =0 is
dx dx

dx

2 3
ATHT TG d—2y+(d—yj +6)° =0 @ UW ¥

dx
A) 1
©) 3

311/52/ASS/4_A ]

B) 2
(D) 5

7
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SECTION - B

g - B

2
X X -2
11  Find the value of x and y from the matrix equation [ 2]_3[ } - [_9}. 2

ategE alieT [2]‘3[2};} = {:ﬂ ¥ x qU y % AHE FE BN

y
OR / 3an
1 2 0
If 4={3 -4 5|, then find e
0 -1 3
1 2 0
o A=|3 -4 5| & @ 4° =@ Hfw
0 -1 3

12 Show that the function f:R— R defined by f(x)= x? is neither one-one nor onto. 2

gy 6w fR—>R, W f(x)=x" 371 wiefim &, 9 @ wdar § ok

TEl SrBTEH |

13 Evaluate : 2

qﬁ?lﬁﬂ%lﬁQi

1—cosx
2

lim
x%O 2x

S11/52/A88/4_A] 8 AR AR RO~ Comte..



. .- d
14 Given y=sm(251n 1x), find d_z 2

ey ¥ y:sin(Zsin_lx) T IS %
X

- ANCAL A =S A A A
15  Find the value of ) so that the vectors a =2i—j+k, b =i+2j-3k and 2
— A A A
¢ =3i+A j+5k are coplanar.

— AN A — A A A
A H I8 AW T aie] N9 6 faQ Wit a =2i-j+k, b=i+2 -3k qud

— A A
C

=3ithj+5k guaeE ¥

16 Write the converse of each of the following statements : 2
(a) If two lines are parallel, then they do not intersect in the same plane.

(b) If x is even number, then x is divisible by 4.
frfafed ot & o w® @1 fgam fafeg -
() E & @U g §, 9 9 TH H 97 H Wlawe TEl &l

(b) AN x TH GHEEN ¥, @ x, 4 ¥ a9t g )
311/52/ASS/4_A] 9 NN A OACON CATARRCVA AR [ Contd...



SECTION - C

geE - C

-8 5
17 Show that matrix A=[ 5 4} satisfies the equation X +ax—42=0. 4
Thus find 4~
-8 5 s
T9isy 6 omege A= - BT x° +4x—42=0 B TIL & 8l @
A T i
4

18 Using properties of determinants, show that

AR % TON W TN Hh, 95T

OR / s¥an

3
3| as the sum of a symmetric and a skew
5

E-SAV I S ]

3
Express the matrix 4=|4
2

symmetric matrix.

3
3| @ uwm gEta 9 Uw foum wnfi onegsl % A %
5

E-SAV I S ]

3
AR A=|4
2

Y H Had g
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19

20

21

22

Find all vectors of magnitude 1043 that are perpendicular to the plane of

Ias

vectors j+2 j+k and _?_,_3}_,_4/(.

1043 IR A g A ARy T ARG S ARG 42 4k T —i+3 4k

% gqd 9X W El|

Prove that :

g wifwg

-1 \/l+x2+\/l—x2 T 1 12
tan =—4+—C0s X
\/l+x2—\/l—x2 2

If f(x)=+/x+1 and g(x)=x2+2, calculate fog and gof. Is fog = gof ?

A f(x)=Jx+1 T g(x)=x"+2 B @A fog T gof T BT

w1 fog =gof ?

A function is defined by

5x—4, O<x<l1
o]

47 —3x, 1<x<2

Find whether function f is continuous at x=1.

Th Ha- 39 WhHK AT

f(x)=

5x—4, O<x<l1
47 —3x, 1<x<2

A BINY 6 1 B £, y=] 9K Had &7

4
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23 Given f(x):(x+%j , find f'(x). 4

i1
24  Find the equation of the tangent and normal to the curve y=cosx at X =§. 4

Ib y=cosx H &g x=§wwaﬁwawaﬁmw%5ﬁwwaﬁaﬁﬁﬂm

OR / s¥an

Find the intervals in which the function
. 4 4 T .

f(x)=sin" x+cos x, OSxSE is

(a) increasing (b) decreasing

TE U T DT [TEH  wes

f(x)=sin4x+cos4x, OSxS%

(a) ¥ & (b) TEEM ¥

T2
25 Evaluate / W =@ ®fvg | log (sinx)dy 4
0

S11/52/A88/4_A] 12 AN AR R I £ Contd...



26 Solve the differential equation 4

d .
cosxd—i:+y=smx given that y =2 when x=0

TR GBI & T

d .
cosxd—y+y:smx @ & y=2 99 x=0
by

27  Find the angle between the line 4

x=2 y+3 z-1
3 3 1

and the plane 2x-3y+4z-7=0.

x=2 y+3 z-1

= 3 3 1

AT GHAA 2x—3y+4z—7=0 & S B BV T BT

2
1-x
28 Evaluate / O S &IWT : J 4dx. 4

1+ x

OR / 31y

X
Evaluate / A Td &iWT : J—z dx .
(x—l) (x +4)

S11/52/A88/4_A] 13 AN AR IA AW £ Contd...



SECTION - D

g - D

29 Solve the following system of linear equation using matrix method : 6

smege fafy @ F aw @il fem & sa@ @i -

2x+3y+10z=4
4x—-6y+5z=1
6x+9y—-20z=2

OR / s¥an

Using elementary transformations, find the inverse of matrix 4 :

A TR faf @1 wE e oegE A @1 WideH S @i

o

Il
W = O
ok [\&) ok
Y I \ ]

30 Show that the height of a closed right circular cylinder of given volume and 6
least surface is equal to its diameter.

T9ey fop o @ U omaas O S @9 gag dd, [ew o aea <A
T, B HAE I AW b TE )

OR / 31y
Find the local maxima and local minima for the function
f(x):sinx—cosx,0< x<2m
el f(x):sinx—cosx,0<x<27lt & ﬁf"{ W Sfess qun e M
HE AT EﬁlﬁQI

S11/52/A88/4_A] 14 MM AR IRAM AT £ Contd...



31 Prove that the lines 6

x+1 y+3 z+5 d x=2 y-4 z-6
3 5 7 M 4 7

are coplanar.

Also find the equation of the plane containing these lines.

o X+1 +3 z+5 x=2 -4 z-6 .
frg =T o @ 3=y5=7 GBI 1=y4=7 AT £ |

g & SH gudd @l g o o et fed ww Y Ruq ¥

2 2
32 Find the area of the region bounded by the ellipse %+%=l, using integration. 6

2 2

WN,W%+%=1N%%WWWW|

33 Solve the following linear programming problem graphically : 6
A g A e T @ @ ' @iy
Minimise / <AqH @ Z=x+2y

Subject to constraints

= gfqeeel & oralq 2x+y 23
x+2y=26
x20,y20

311/52/ASS/4_A ] 1

9]
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OLD
MATHEMATICS
(vrforer)
311)

Old Syllabus / JUAT 9T&rRA

Time : 3 Hours] [Maximum Marks : 100
qeg ¢ 3 g ] [quif : 100
Note : (i) This Question Paper consists of two Sections, viz., 'A' and 'B'.

(i) All questions from Section 'A' are to be attempted. However, in some
questions, internal choice is given.

(ii1) Section 'B' has two options. Candidates are required to attempt questions from
one option only.

fRar: () WU T A A @GS T - @ W qA g AN

(i) @S ‘o7 & AW UW B FTH BTN § | FV USK & o Aoy
™ 2

(i) @wos ‘@ ® A faweq ¥ | qOAA B bad Uk fqEwed & W U b SR
R

S11/52/A88/4_A] 16 | [AARTAANRRTIRAM AT £ Contd...



SECTION - A

g - |

1 If 8th term of an AP. is 33 and the sum of 4t and 10t terms is 58. 2

Find the 2279 term of the A.P.

Tsh GHiaY 9ol &1 89i U 33 ¥ I9%h 49 qU1 109 US &I A 58 T SH GHIAX
& H/ 2291 UG IG HINIG)

2 A circle is concentric with the circle x2 + y2 —2x-10y—46=0 and passes through 2

the point (3, 2). Find the equation of the circle.

TH I, T x° +)° —2x—10y—46=0 BT Gb<g & qu1 f&§g (3, 2) & A W@
Tl T B GHE TG B

3 If A={1,2.3,4}, B={2,4,5,6,7.8}, C={1,3,5,6,7,8,9,11}, verify that : 2

e A=1{1,2,3.4}, B={2,45678}, C={1,35¢67280911} § @ wam«
T fop

(AUB)NC =(ANC)U(BNC)

S11/52/A88/4_A] 17 | MVARAN RNy £ Contd...



311/52/ASS/4_A ] 1

Prove that the function F':R— R defined by f(x)=2x-3 is a one-one function. 2

fag &INT /6 T F:R— R S f(x)=2x-3 W a9 3, @ f w& St

AT ® |

OR / s¥an

If f(x):x2+l and g(x)zw/x+2, find gof and fog.

afe f(x)=x"+1 e g(x)=vx+2 ¥, @ fog T gof T HRAY

Prove the following :

e @ R wifeg

(n-3)!

If =990, find n.

afy (n'i!3)|:990 ¥, @ on o FiRT

=]

[ AHTATRRR AW AIREA TR0 € Contd...



7 In a box there are 5 black pens, 3 white pens and 4 red pens In how many 2

ways 2 black, 2 white and 2 red pens can be chosen ?

TH g H S HW UG, 3 WheE UT qUT 4 @@ U9 ¥ Reaw qlisl ¥ 2 @,
2 O%he AT 2 W@ U g S Wahd § ?

8 If 1,w, w? are cube roots of unity, prove the following : 2

R Lw,ow’ TEE F oW AW E, @ P R @R

(x=3) (0w =) 0 =)= =’

9 Evaluate : 3

qﬁ?lﬁﬂ%lﬁQi

J- sin x "

sin(x—a)

OR/3qan

Evaluate :

qﬁ?lﬁﬂ%lﬁQi

2 .
SINX —COS X

-([ 1+sinxcosx

311/52/ASS/4_A ] 1

o
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10 Evaluate :

qﬁ?lﬁﬂ%lﬁQi

. l-cos2x
lim —
x=0 3tan” x

OR/3qan

dy y(l-x)
If ¢ =xy, show that —~= x(-1)

y(l—x)

dy
x+y_ —
g e =xy, EEUFES dx x(y—l)

11  Using properties of determinants, prove the following :

AR & ULl B TEART BT e Rig S

ab —b2 bc =4azbzc2

ac bc —c

OR/3qan

2x+1 2y _[x+3 y+5}
If 0 y2+l 0 76 |- find x and y

2x+1 2y _[x+3 y+5
afg 0 P4

0 26}%,?ﬁxﬁ?ﬂy WW|

S11/52/A88/4_A] 20 AU AR Q=T Comt..



12 If o, B are roots of the quadratic equation ax® +bx+c=0. Form an equal 3

1 1
whose roots are 5 and %

afs o, p feomr @iw ax® +bx+c=0 % A T, A & TGO T BN

1 1 .
ﬁﬂ'ﬂ%%@ﬁ%%%l

OR/3qan

Find the modules of the complex number 4+/5i .

aftmy e 4+4/5i @ AW T #ieul

13 A problem in mathematics is given to three students, whose chances of solving 3

11 1
are .3 and 1 respectively. What is the probability that the problem will be
solved ?

3 faenf¥ai & v &1 Tw W9 ' dd & WU femn mn feel s9el ' e

& wiw Ba: Hm%%wﬁww%ﬁsuwwﬁaﬁm?

11
273

S11/52/A88/4_A] 20 NI =t Comt..



d
14 If x=cosO—cos?26 and y=sin9—sin29, find d_z 4

d
gf x=cosb—cos20 qAT y=sinO-sin20 ¥, @ d—z S T |
OR/3qan

2
_ d s d
If y=aemx+be "% show that —;—m &

0.
’ dx dx

d2

_ 2 d
i yzaemx+be %, @ egiEw TR d_g_m P
x

0.
dx

15 Solve the following differential equation : 4

e orasa TG B BA BT

xlogxd—y+y = 2(10g x)2
dx

16 Find the mean and variance for the following data : 4

=7 ifepsl o We Ul WEROT I R

Classes (=) 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency (srisman) 3 7 10 7 3

S11/52/A88/4_A] 22 U AR A=t ..



17 Find the equation of the parabola whose focus is (a, b) and whose directrix is 4

bx+ay=ab.

IG WEAT HT GHIGIU T BT gl A9 (a, b) X & dur Rl
bx+ay=ab ¥

10
2 2
18 Find the term independent of x in the expansion of [x ——3j : 4
X

10
[xz—%j F TER W x § @dd U8 | S|
X

19 Find the equation of the line passing through the point (1, 3) such that intercept 4

on y-axis exceeds the intercept on x-axis by 4.

SH Y@ B GHEIU T BT St Ng (1, 3) ¥ ¥ Wl § qun fEe
y-3T& UX el @S, x-o1f WX e o @S 9 4 offum ¥

20 Find the general solution of the trigonometric equation cot0+tan®=2cosecH. 6
e e cot@+tan@=2cosecd H HUH T@ T DI |

OR/3qan

Using sine formula, prove the following :

e BEW % o ¥ fre g A

asin = (b—c)cosg

311/52/ASS/4_A ] 2

W
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21 Find the area common to the two parabolas x2 = 4ay and y2 =4dax. 6

& wawEl xC =day AUy =4dax §F WA & B W S BRI
OR/3yat

Show that / 913U T :

n X
J —dx =7
0 1+sinx

2

22 If the sums of m and n terms of an A.P. are as p? -1, prove that common 6

difference is equal to twice the first term and the ratio of m™ and nth terms

are as 2m-—1:2n-1.

At TR IE % WEH m T WA 0 W F omon” & AUE %, @ fOE
HIY o 9 ofdx wom 98 &1 g & da mth qam oot o' F 2m-1:2n-1
H AU |

23  Using matrices solve the following system of equations : 6
AeEl & ¥ e eie Few @ sa sy

2x—y+z=3,-x+2y—z=—4 x—y+2z=1

24  The profit function P(x) of a firm is given by P(x)=(150—x)x-1625 6

find the number of items the firm should manufacture to get maximum profit.

Also find maximum profit.

TH B B A-HEd P(x), P(x)=(150-x)x-1625 T A ¥ aAfwan @w
U BT % [qQ ®H B fha-l aRgall @1 SURA LA dIiey ¢ SAfdhad @w A
EIEEAIS e

S11/52/A88/4_A] 24 AN ARt Comt..



SECTION - B

e — 9
OPTION - 1
ICET T |

(Vectors and Three-Dimensional Geometry)

(afzer qum Tr—smam wafufa)

35 Show that the lines =22 =2 g X=2_y71_z-1 I 6
ow that the lines — T~ ad —3 ) T are coplanar.

Find the equation of plane containing the lines.

z x=4 y-1 z-1

. x=1 y-3 .
gyizw fop @ T ) " TIIAT ¥,

TG d@ B B A @ diee ey g W@ Rum #)

26 The foot of perpendicular drawn from (1, -2, -3) to a plane is (3, 2, —1) 4

find the equation of the plane.

fdg (1, 2, 3) 9 & 99ad W S W &9 @& U &g (3, 2, 1) ¥
3 T Bl GBI T N

OR/3qan

S11/52/A88/4_A] 25 NN AR Q= Comt..



Find the radius and centre of the following circle :

=1 9o @1 &= Jan B @ sk

¥y 4zt 2y—4z-11=0, x+2y+2z=15

- A A = AN N AA . — . . .
27 Let a=i-j,b=3j—k and ¢ =7i—k .Find a vector d which is perpendicular to 3
- - - =
both @ and b and ¢-d =1
— =N AN — AN N —
AN a=i—j,b=3j—k O c=Ti—k | 98 A& 4 ¥d HL M a Fql
. - =
b a9 WX Wg ' qul c-d =1
%
28 Let A(3,-1,2) and B(2,3,7) be two points. Find 4B and its magnitude. 2

WA A(3,-1,2) qE B(2,3,7) & Rig ¥ 4p T AW qan 3@ aREm @
S T |
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OPTION - 11

e - 11

(Mathematics for Commerce, Economics and Business)

(ariorea, StismE @ @MW % fau wRE)

25 The total cost function for a company is given by C (x):%x2—7x+27. 6

Find the level of output for which MC = AC.

Th BUN Bl FA WO Hed C(X)=%x2—7X+27 T 3 B

IAET ®B 98 W T BT e @Y MC = AC 3|

26 Construct by simple average of price relative method, the price index for 2004 4

taking 2000 as base year from he following data :

= sffwsl § eagul & 3@ WeT @ [ ¥ 2000 HOSER a9 AMHT aN
2004 & U Tea i T BN ¢

Commodity (%) A B C D E
Price (in 2000) 60 50 60 68 20
T (2000 )
Price (in 2004) 90 70 75 85 35
T (2004 )
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27 A person of 25 years age takes an insurance policy of sum assured ¥ 50,000 3
for 30 years term. Calculate the premium for monthly payment assuming the

following :

25 99 @ Mg % TH AR 30 ¥ F faw T 50,000 A S0 uewE @@ ¥
e faaror & orgER Witbe gae % faw diftem @& o i

Tabular premium (dTeteT WREH)R 1000 .....cocooovove. < 40

Less rebate for large sum assured ....................... < 2R 1000
(arfres S TfdT & fow we)

Extra premium for monthly payment.... 5% of Tabular premium

(e g < fore srfafve Wiftew) ... (qrfeent diftEs @ 5%)
OR / s¥an

Shivam Enterprises, manufactures 60 units of steam irons per day and its input
cost is T 200 per unit. The company adds a value of ¥ 100 and then sells them
after paying 10% excise duty. Calculate the final price of each steam iron and how
much total duty has been paid at the end of the month when the transaction is

without cenvat.

f3rem deEeg widieT 60 W emERa T 200 Wiq S@E @l @rd X S99 8|
HA YD THE B bAd § T 100 W I F R Y 3R 10% SEe g
T F I I ¥ UAE WM AEE B oAfaH HAd w37 Ay g e
% T F A AWM & o H Hu fea SR gk Idl 87
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28  Asif purchased 400 shares of a company (of par value ¥ 10 each) at a premium 2
of 25%. He sells these shares when their price rose to I 16.50 per share.

Find his gain in the transaction.

A% Th HTH & 400 X R 10 UfY 9o &9 I d) 25% Wi W
G| 3O I RN B q9 A T I TF qehT X 16,50 Ui R B A |
T G § IGHT AW A BT
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